20248HE WSS

2. Yazsta 2 Tioj cisto] STk

H¥36 . OfEE0
247

0 1]
(0%) (0%)
1 2
ojs S0t

3. Ynssia 3 oe gl 2o ARo] cisio] HEELIL?
36 - Dfge 0
B3 4.6

1] 1]
(0%) (0%)
1 2

JE1d

(8%)

(22%)

(Z2%)

yae
26
(72%)
5
o orE
#9e
25
(69%)
5
uj 2



4. gty o203 SR0] oisie] USEL?

HH 36 - 0RO
W 4.6 PR | FELEE
25
(69%)
75
15
- 8
[22%)
= 3
[8%]
o o
(0%} (0%}
1 2 3 4 5
o ot el
5. X230 Li8nt B2 HESIRSLICL
H¥ 36 . OO
W 4.6 PR | plmE=s
25
(69%)
75
15
g
10 (25%)
& 1 1
(0%} i £
0 = [ | [
1 2 3 4 5

ot E 2 PR



6. ZAH2 D203 L2 S ofsiist?| 2] SsiaLIc

%36 - OIEY 0
W47
12
I_.
1
d %)
(0%)
" s =
b | Z
o St

7. D207H0| 4 T =20] HASLICH

HH¥ 36 . OO0
B 4.5
15
101
5
o 0
(0%) {0%)
o — o
1 2
o =3¢

82 | 7
28
(78%)
[
(17%)
4 5
OPE
-1 =
73
(64%)
]
(22%)
4 5

Ll e



8. o= o] Z=3o] Al HofsRiSLIC

HH 36 .- OO0
BE 44
15
5
{14%)
1
2 (3%)
(0%
it =
T 2 = !
off > S0k
9. 9|2 HAeH B0 WAL F 0| 22 [MSEIALIR?
g 36 - Oigs0
@ 25y
@ “a3u

10. 7[Et 20| UCHH ZojFEM.
H©¥ 6 - OiE 30

Dfxjet watsoix ofeict

S

HIEE Haguck

it

Lol Tiahs 9P o s e HayEh e e Hdo| Tt Foie

e E2tsLUc

(19%)

e

(B43%)

2 [6%)

34 (94%)

F R

=5 1

F R

A



